0 © W oo oV AR B BE

KT RFHMY

Fh.

D =

(ERONS AMEQD

HOLD DOWN TOGGLE CLAMPS 6830B No.E-9480

AT EZ K E68308

EZIEA ss400

EEEE 2 (W)

WD 3= == R igsT

ORAEESE (W) , AIMENERHS, STERNE.

-

6800B-2,3
BRTER
i8S A B . C D E F G H I i J K L M N O P Q
6830B-0 | 4 28 155 46 9 5 115:155 75 53 16 - - 12 90° -7~25
6830B-1 | 5 42 15 (52 186 8 13 20 10 ' 55 225:181: - 55 :90° -3~2
6830B2 | 6 64 26 56 32 16 - 25 13 .6 127 285 205 56 03  90° :-2~55
6830B-3 | 8 | 72 257 65 36 15 - 33 15 7 13 316:22 5185 90" -7~55
LR
kN/kgf
T4 ns o SO - | MREGEXKE = 2Kx&B  Eikg
120610 6830B-0 0.3/ 31 0.4/ M M4x34.5 79% 23 0.04
120611 6830B-1 0.8/ 82 1.1/112 M5X38 120% 30 0.11
120612 6830B-2 1.0/102 1.2/122 M6X46 162X 45 0.19
120613 6830B-3 1.8/184 2.5/255 M8x63 206%48.5 0.32

EEER

http://www.nabeya.co.jp



